
Term Test #2, ECO220Y, January 31, 2014       SUGGESTED SOLUTIONS 
 
(1) (a) We are 95% confident that between 10.6 and 13.4 percent of all Canadians in the first half of October 
2013 believed that science is not yet conclusive that global warming is happening. 

(b) 𝐶𝐼 = 𝑃� ± 𝑀𝐸 = 𝑃� ± 𝑧𝛼
2
�𝑃�(1−𝑃�)

𝑛
= 0.12 ± 1.96�0.12∗0.88

2,003
= 0.12 ± 0.014. The summary is giving a margin of 

error for various proportions and hence uses the worst case scenario of a sample proportion of 0.5, which 

results in the highest possible margin of error: 𝑀𝐸 = 𝑧𝛼
2
�𝑃�(1−𝑃�)

𝑛
= 1.96�0.5∗0.5

2,003
= 0.022. For a sample proportion 

of only 12% the margin of error will be considerably smaller (i.e. 1.4% as correctly calculated above). 

(c) 
𝐻0:𝑝 = 0.5 

𝐻1:𝑝 < 0.5 (Note students may write 𝐻1 or 𝐻𝐴.) 

𝑃� = 0.47 

We can approximate the relevant sample size as 229 �= 2,003 ∗ 4025.1
35,158.3

�. 

Compute the P-value, which is a quantitative measure of the strength of our evidence in favor of the research 
hypothesis: 

𝑃 − 𝑣𝑎𝑙𝑢𝑒 = 𝑃�𝑃� < 0.47�𝑝 = 0.5,𝑛 = 229� = 𝑃

⎝

⎛𝑍 <
0.47 − 0.5

�0.5 ∗ 0.5
229 ⎠

⎞ = 𝑃(𝑍 < −0.91) = 0.18 

We have only very weak evidence in favor of the research hypothesis. The sample proportion is less than half, 
but even if half of all Alberta residents did believe this there is an 18% chance we could see a sample 
proportion as low as 47%. This result is not statistically significant at any conventional significance level. 

(2) (a) The numbers in parentheses are the standard errors of the reported sample proportions (response 
rates), which indicate how much sampling error could affect the reported statistics. For example, the results for 

the 3:1 match in Blue States are 𝑃� = 0.021 and 𝑛 = 6,574. To find the reported s.e.: 𝑠𝑒�𝑃�� = �𝑃�(1−𝑃�)
𝑛

=

�0.021(1−0.021)
6,574

= 0.0018. Rounding to the nearest thousandth we obtain 0.002 just as reported in the table. 

[Note to markers: It is a serious error if students use the following: 𝑆𝐷�𝑃�� = �𝑝(1−𝑝)
𝑛

  because we do not know 

the population proportion (a parameter) and hence cannot plug into this formula.] (Further explanation: our 
estimate of the s.d. of the sample proportion is 0.2 percentage points. Hence 𝑃� is a fairly precise estimate of 
the population proportion: the point estimate is 2.1 percentage points versus as standard error of 0.2 
percentage points.) 

(b) Define 𝑝1 as the proportion responding (response rate) for a $1:$1 match and 𝑝2 as the proportion 
responding (response rate) for a $3:$1 match. 

𝐻0: (𝑝1 − 𝑝2) = 0 

𝐻1: (𝑝1 − 𝑝2) ≠ 0   
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𝑃�1 = 𝑋1

𝑛1
= 0.021; 𝑃�2 = 𝑋2

𝑛2
= 0.026   

Pooled proportion: 𝑃� = 𝑋1+𝑋2
𝑛1+𝑛2

≈ 0.021∗4,490+0.026∗4,547
4,490+4,547

= 0.0235   

Test statistic: 𝑧 = 𝑃�1−𝑃�2

�𝑃
�(1−𝑃�)
𝑛1

+𝑃
�(1−𝑃�)
𝑛2

= 0.021−0.026

�0.0235(1−0.0235)� 1
4,490+

1
4,547�

= −0.005
0.00319

= −1.57 

P-value: 𝑃 − 𝑣𝑎𝑙𝑢𝑒 = 𝑃(𝑍 < −1.57) + 𝑃(𝑍 > 1.57) = 2 ∗ (0.5 − 0.4418) = 0.1164 

Because the P-value is greater than the selected significance level (0.10) we conclude that there is NOT a 
statistically significant difference in the (population) response rates between a $1:$1 match with a $3:$1 match 
in Red States. 

[Note to markers: This question can be correctly approached either by using the P-value approach and 
comparing it to the significance level (as shown above), by using the standardized rejection region approach, 
or by using the unstandardized rejection region approach. If a student uses the standardized rejection region, 
the rejection region has two parts: 𝑍 ≤ −1.645 and 𝑍 ≥ 1.645. If the student uses the unstandardized rejection 
region, the rejection region has two parts: �𝑃�1 − 𝑃�2� ≤ −0.0052 and �𝑃�1 − 𝑃�2� ≥ 0.0052.] 

(c) To answer we find a Confidence Interval estimate. Since no significance level is specified and there is 
nothing special here to suggest departing from the usual convention in economics of a 5% significance level, 
we use that. 

(𝑃�2 − 𝑃�1) ± 𝑧𝛼/2�
𝑃�2(1− 𝑃�2)

𝑛2
+
𝑃�1(1− 𝑃�1)

𝑛1
 

(0.026− 0.015) ± 1.96�
0.026(1− 0.026)

4,547
+

0.015(1− 0.015)
6,648

 

0.011 ± 1.96 ∗ 0.0028 

0.011 ± 0.0055 

Hence the estimated effect of moving from no match to a $3:$1 match in Red States on the response rate is a 
1.1 percentage point increase in the response rate with a margin of error of plus or minus 0.6 percentage 
points to achieve 95% confidence. 

(3) Define the parameter 𝑝 to be the proportion of boys born in the relevant population. Write down the null and 
research hypotheses: 

𝐻0:𝑝 = 0.512 

𝐻1:𝑝 > 0.512 (Note students may write 𝐻1 or 𝐻𝐴.) 

To answer the question requires selecting a significance level and finding the rejection region. Given the 
sensitive nature of this question I would choose a fairly high burden of proof (higher than the conventional 
significance level of 5%). Suppose we choose 1%. [Note to markers: The important fact is that the student 
demonstrates understanding of this issue. They could choose a different significance level – so long as s/he 
justifies its use in this situation – because this is a judgment call.] 
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Find the rejection region: 
𝑃�𝑃� >? �𝑝0 = 0.512,𝑛 = 1,000� = 𝛼 = 0.01 

𝑃(𝑍 > 2.33) = 0.01 

𝑍 =
𝑃� − 𝑝0

�𝑝0(1− 𝑝0)
𝑛

 

2.33 =
𝑃� − 0.512

�0.512(1− 0.512)
1000

 

2.33 =
𝑃� − 0.512

0.0158
 

0.0368 = 𝑃� − 0.512. Hence the critical value (c.v.) – edge of the rejection region – is 0.549 (= 0.512 + 0.0368). 
Given that our sample size is 1,000, this means I would need to see at least 549 boys (i.e. 549 or more boys) 
to be convinced that there is interference to select for male babies. 

(4) (a) The Empirical Rule, which states that in a sample drawn from a Normal population about 68.3% of 
observations should lie within 1 standard deviation of the mean, about 95.4% should lie within 2 standard 
deviations of the mean, and about 99.7% should lie within 3 standard deviations of the mean does NOT apply 
here because distribution of Fortune 500 companies profits is clearly positively skewed and not Normal. 
According to the STATA summary the mean is $1.64 billion and the s.d. is $4.09 billion. If the Empirical Rule 
were to hold then about 68.3% of Fortune 500 companies should have profits between -$2.45 billion and $5.73 
billion. However, the Stata summary shows that the 5th percentile is $-0.65 billion and the 90th percentile is 
$3.89 billion, which means that more than 85% of companies fall within 1 s.d. of the mean: this is way off from 
what the Empirical Rule would say. 

(b) In this example the Central Limit theorem, which states that the sampling distribution of the sample mean 
(𝑋�) is Normally distributed no matter what the shape of the population so long as the sample size is sufficiently 
large, does NOT apply in the Fortune 500 example for either n = 10 or n = 40. In both cases we are closer to 
Normal than the original population shown in Histogram #1 – which is strongly positively skewed – but the 
simulated sampling distributions of the sample mean clearly still shows some positive skew for both a sample 
size of n = 10 and n = 40, and hence are not Normal. Histogram #3 is closer to Normal than Histogram #2 
because the sample size is bigger but it is still clearly skewed. We’d need an even bigger sample size to meet 
the “sufficiently large” requirement. 

(c) Yes the analyst is correct to be surprised that the mean profit of a random sample of 40 Fortune 500 
companies is a low as $0.5 billion. Histogram #3 shows the sampling distribution of the sample mean for a 
sample size of 40 (as obtained from a Monte Carlo simulation). From that sampling distribution we see that it is 
unlikely to obtain a random sample of 40 companies with a mean profits as low as $0.5 billion: it looks like the 
chance of that happening is clearly less than 0.05. The fact that many companies have such a low level of 
profits refers to the original population distribution and NOT the distribution of the sample mean. 
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(5)  
𝐻0:𝑝 = 0.10 

𝐻1:𝑝 > 0.10 

Find the unstandardized rejection region for 𝑛 = 1000 and 𝛼 = 0.01: 

𝑃(𝑍 > 2.33) = 0.01 

𝑍 =
𝑃� − 𝑝0

�𝑝0(1− 𝑝0)
𝑛

 

2.33 =
𝑃� − 0.10

�0.10(1 − 0.10)
1000

 

2.33 =
𝑃� − 0.10
0.0095

 

Solving for 𝑃� gives the unstandardized critical value (c.v.) 
= 0.122. Hence the rejection region is (0.122, 1): i.e. we need a sample proportion of at least 12.2 percent 
making purchases to reject the null and infer the true proportion is over 10%. 

𝑃𝑜𝑤𝑒𝑟 = 𝑃�𝑃� > 0.122�𝑝 = 0.14,𝑛 = 1000� = 𝑃�𝑍 > 0.122−0.14

�0.14(1−0.14)
1000

� = 𝑃 �𝑍 > −0.018
0.0110

� = 𝑃(𝑍 > −1.64) = 0.9496  

 

0.122

0

20

40

60

80

D
en

si
ty

.06 .08 .1 .12 .14
P-hat

Sampling Distribution IF p = 0.100
n = 1000, alpha = .01, c.v. = 0.122

0.122

0

20

40

60

D
en

si
ty

.1 .12 .14 .16 .18
P-hat

Sampling Distribution IF p = 0.140
n = 1000, power = .949, c.v. = 0.122



<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



